二項式×二項式

展開
(a + b)(x + y) = ax + ay + bx +by
（一）展開以下各式:（      框内的步驟可略去）
	1.
	  ( 7a+1 )( 5+b )  
=  7a (       ) + 1(        )
= (    )(    ) + (    )(    ) + (    )(    ) + (    )(    )
= (      ) + (      ) + (      ) + (      ) 

= 
	2.
	( 4x+5 )( 9-12x )   

= 4x (         ) + 5 (          )
= (    )(    ) + (    )(    ) + (    )(    ) + (    )(    )
= (       ) + (       ) + (       ) + (       ) 

=

	3.
	  ( 2a+b )( -4a+5b )   

=

	4.
	  (2x +3y) (-2x -4y)   

=


	5.
	  ( a -3 )( 4a +26 )   

= a (         ) + ( -3 ) (         )
= (    )(    ) + (    )(    ) + (    )(    ) + (    )(    )
=
	6.
	(-2x +y)(9x +3y)   

= (-2x ) (         ) + y (         )
= (    )(    ) + (    )(    ) + (    )(    ) + (    )(    )
=


	7.
	   ( 8k -h )( 5k +2h )   
=

	8.
	 (-2a -2b)( -a +6b )   

=


	9.
	(-x -2y)(-3x -4y)    

=

	10.
	  (-2x -y) 2   

= (           )(           )  
=



(二) 展開以下各式: （      框内的步驟可略去）
	例:
	  -(2a +3)(b +6)   

= -[ (2a +3)(b +6)]
= -[ 2a (b +6) + 3 (b +6 )]
= -[ (2a) (b) + (2a) (6) + (3) (b) + (3) (6)]
= -[ (2ab) + (12a) + (3b ) + (18 ) ]
= -2ab - 12a - 3b -18 

	1.
	  -(5a +b)(4a -2b)   

= -[(           )(           ) ]
= -[ 5a (          ) + b (           )]
= -[ (      ) (      ) + (      ) (      ) +(      ) (      ) + (      ) (     )]
= -[ (        ) + (        ) +(        ) + (       ) ]
=

	2.
	  -(6x -6y)(-x +5y)
=   


	3.
	   -(-k -7h)(9k - h) 
=


	4.
	  -(-x -2y) 2   

=



二項式×二項式(答案)

展開
(a + b)(x + y) = ax + ay + bx +by
（一）展開以下各式:（      框内的步驟可略去）
	1.
	  ( 7a+1 )( 5+b )  
= 7a (5+b ) + 1(5+b )
= ( 7a )( 5 ) + ( 7a )( b ) + ( 1 )( 5 ) + ( 1 )( b )
= ( 35a ) + ( 7ab ) + ( 5 ) + ( b ) 

= 35a +7ab +b+5
	2.
	( 4x+5)( 9-12x )   

= 8x ( 9-12x ) + 8 ( 9-12x ) 
= ( 4x )( 9 ) + ( 4x )( -12x ) + ( 5 )( 9 ) + ( 5 )( -12x )
= ( 36x ) + ( -48x2 ) + ( 45 ) + ( -60x ) 
= -48x2 -24x +45 

	3.
	  ( 2a+b )( -4a+5b )   

= 2a (-4a+5b ) + b (-4a+5b )
= ( 2a )(-4a ) + ( 2a )( 5b ) + ( b )( -4a ) + ( b )( 5b )
= ( -8a2 ) + ( 10ab ) + ( -4ab ) + ( 5b2  ) 
= -8a2 +6ab +5b2
	4.
	  (2x +3y) (-2x -4y)   

= 2x (-2x -4y ) + 3y (-2x -4y)
= ( 2x )( -2x ) + ( 2x )( -4y ) + ( 3y )( -2x ) + ( 3y )( -4y )
= (-4x2 ) + (-8xy ) + (-6xy ) + (-12y2 ) 

= -4x2 -14xy -12y2

	5.
	 ( a -3 )( 4a +26 )   

= a (4a+26 ) + ( -3 ) (4a+26 )
= ( a )( 4a ) + ( a )( 26 ) + ( -3 )( 4a ) + ( -3 )( 26 )
= ( 4a2 ) + ( 26a ) + ( -12a ) + ( -78 ) 

= 4a2+14a-78
	6.
	(-2x +y)(9x +3y)   

= (-2x ) (9x +3y) + y (9x +3y )
= ( -2x )( 9x ) + ( -2x )( 3y ) + ( y )( 9x ) + ( y )( 3y )
= (-18x2 ) + (-6xy ) + ( 9xy ) + (3y2 ) 

= -18x2 +3xy +3y2

	7.
	  ( 8k -h )( 5k +2h )   
= 8k (5k +2h ) + (-h ) (5k +2h )
= ( 8k )( 5k ) + ( 8k )( 2h ) + ( -h )( 5k ) + (-h )( 2h )
= ( 40k2 ) + ( 16hk ) + ( -5hk ) + ( -2h2 ) 
= 40k2 +11hk -2h2
	8.
	 (-2a -2b)( -a +6b )   

= (-2a) (-a +6b ) + (-2b) (-a +6b )
= ( -2a )( -a ) + (-2a )( 6b ) + ( -2b )( -a ) + ( -2b )( 6b )
= ( 2a2 ) + (-12ab ) + ( 2ab ) + ( -12b2 ) 
= 2a2 -10ab -12b2

	9.
	(-x -2y)(-3x -4y)    

= (-x) (-3x -4y) + (-2y) (-3x -4y )
= (-x)(-3x) +(-x )( -4y ) + (-2y )( -3x ) +(-2y )( -4y )
= ( 3x2 ) + (4xy ) + (6xy ) + (8y2 ) 

= 3x2 +10xy +8y2
	10.
	  (-2x -y) 2   

= (-2x -y) (-2x -y)  
= (-2x) (-2x -y) + (-y) (-2x -y )
=(-2x)(- 2x) +(-2x )( -y ) + (-y )( -2x ) +(-y )( -y )
= ( 4x2 ) + (2xy ) + (2xy ) + (y2 ) 

= 4x2 +4xy +y2


(二) 展開以下各式: （      框内的步驟可略去）
	例:
	  -(2a +3)(b +6)   

= -[ (2a +3)(b +6)]
= -[ 2a (b +6) + 3 (b +6 )]
= -[ (2a) (b) + (2a) (6) + (3) (b) + (3) (6)]
= -[ (2ab) + (12a) + (3b ) + (18 ) ]
= -2ab - 12a - 3b -18 

	1.
	  -(5a +b)(4a -2b)   

= -[(5a +b)(4a -2b) ]
= -[ 5a (4a -2b) + b (4a -2b )]
= -[ (5a) (4a) + (5a) (-2b) +( b) (4a) + (b) (-2b)]
= -[ (20a2) + (-10ab) +(4ab ) + (-2b2) ]
= -20a2 +6ab +2b2

	2.
	  -(6x -6y)(-x +5y)
= -[(6x -6y)(-x +5y) ]
= -[ 6x (-x +5y) + (-6y) (-x +5y )]
= -[ (6x) (-x) + (6x) (5y) +(-6y ) (-x)+ (-6y) (5y)]
= -[ (-6x2) + (30xy) +(6xy) + (-30y2)]
= 6x2 -36xy +30y2

	3.
	   -(-k -7h)(9k - h) 
= -[(-k -7h)( 9k -h) ]
= -[ (-k) (9k -h) + (-7h) (9k -h )]
= -[ (-k) (9k) + (-k) (-h) +( -7h) (9k) + (-7h) (-h)]
= -[ (-9k2) + (hk) +(-63hk) + (7h2)]
= 9k2 +62hk -7h2

	4.
	   -(-x -2y) 2   

= -[(-x -2y)(- x -2y) ]
= -[ (-x) (-x -2y) + (-2y) (-x -2y )]
= -[ (-x) (-x) + (-x) (-2y) +(-2y ) (-x) + (-2y) (-2y)]
= -[ (x2) + (2xy) +(2xy) + (4y2)]
= -x2 -4xy -4y2


























